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QUESTION 1

Which two statements are true about Formulas? (Choose two.)

A. Both attributes and library functions can be used as inputs for Formula Management.

B. Only attributes can be used as inputs for Formula Management.
C. Formulas can set both transaction- and line-level attributes.
D. Formulas cannot be run in sequence to perform multi-step calculations.

Correct Answer: CD

QUESTION 2

Which two items are not included in an environment refresh?
A. Automated FTP upload to CPQ schedule

B. Active sessions

C. Users

D. Commerce transactions

E. Configuration administration

Correct Answer: AE

QUESTION 3
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What is the correct order of execution of Configuration rules for an attribute that has both Recommendation and

Constraint rules written on it?

A. Recommendation, Constraint, Hiding, Recommended Item

B. Constraint, Hiding, Recommendation, Recommended Item

C. Constraint, Recommendation, Constraint, Hiding, Recommended Item
D. Hiding, Constraint, Recommendation, Recommended Item

E. Recommendation, Recommended Item, Hiding, Constraint

Correct Answer: D

QUESTION 4
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A new user group has been created in the development environment. What should you do to migrate this new user
group to the production environment?

A. Migrate Commerce to the production environment.

B. Migrate the new user group to the production environment.

C. Manually create the new user group in the production environment.
D. Migrate the new users to the production environment.

Correct Answer: B

QUESTION 5

A use case requires displaying 250 rows of data to a user and allowing the user to interact with the data in

a mobile interface.

What is the Oracle-recommended method for displaying an interactive 250-row data set in a Configurator?

A. Split the data into two array sets and use logic to show the relevant set of data.

B. Use an HTML attribute to display the data and use JavaScript to create interactivity.

C. Use an array set to show this data.

D. You do not have a good option because 250 rows are too much to display on the screen of a Configurator.

Correct Answer: A
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